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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Write down any two advantages of Research.

		  emoY Ho$ {H«$Ýht Xmo bm^m| H$mo {b{I¶o&

	 (ii)	 Define Random Sampling.

		  X¡d à{VM¶Z H$mo n[a^m{fV H$s{O¶o&

	 (iii)	 What is the formula given by Bowley for measuring 

skewness?

		  {df‘Vm H$m ‘mnZ H$aZo hoVw ~mCbo H$m gyÌ ³¶m h¡?

	 (iv)	 What is the basic difference between fixed base index 

number and chain base index number?

		  pñWa AmYma gyMH$m§H$ VWm l§Ibm AmYma gyMH$m§H$ ‘| ‘yb AÝVa 
³¶m h¡?

	 (v)	 State the Regression Equation of 'x' on 'y'.

		  'x' H$m 'y' na àVrnJ‘Z g‘rH$aU ~VmB¶o&

	 (vi)	 What is meant by Bibliography?

		  J«§W gyMr go ³¶m Ame¶ h¡?

	 (vii)	Find Probability of 53 sundays in a Leap year.

		  EH$ A{Ydf© ‘| 53 a{ddma hmoZo H$s àm{¶H$Vm kmV H$s{O¶o&

	 (viii)	Define median.

		  ‘Ü¶H$m H$mo n[a^m{fV H$s{O¶o&
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Distinguish between Primary and Secondary data and discuss 
the 'Direct Personal Investigation method'.

	 àmW{‘H$ VWm {ÛVr¶H$ g‘§H$m| ‘| AÝVa ñnîQ> H$s{O¶o VWm àË¶j 
ì¶p³VJV AZwg§YmZ H$mo g‘PmB¶o&

3)	 "Editing Provides accuracy to the statistical investigation". 
How?

	 ''gånmXZ {H«$¶m gm§[aì¶H$s¶ AZwg§YmZ H$mo ewÕVm àXmZ H$aVr h¡&'' 
H¡$go?

4)	 Calculate "Mode" from the following data :-
	 {ZåZ g‘§H$mo§ go ~hþbH$ H$m {ZYm©aU H$s{O¶o …-

	

Classes Frequency
0 - 10 15
10 - 20 20
20 - 30 25
30 - 40 24
40 - 50 12
50 - 60 31
60 - 70 71
70 - 80 52
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5)	 What do you understand by 'Hypothesis'? State the types of 

hypothesis.

	 "n[aH$ënZm' go Amn ³¶m g‘PVo h¡? n[aH$ënZm Ho$ {d{^Þ àH$mam| H$m 
dU©Z H$s{O¶o&

6)	 Explain briefly the 'Analysis of variance in one way classification'.

	 "EH$ ‘mJu¶ dJuH$aU' ‘| àgaU {díbofU H$mo g§jon ‘| g‘PmB¶o&

7)	 Write an explanatory note on the major component of a 

research report.

	 "emoY [anmoQ>©' Ho$ ‘w»¶ Ad¶dm| / ^mJm| na ì¶m»¶mË‘H$ {Q>ßnUr {b{I¶o&

8)	 Construct Fisher's Ideal Index Number from the following data 

:- 

	 {ZåZ g‘§H$mo go {’$ea Ho$ AmXe© gyMH$m§H$ H$s aMZm H$s{O¶o…-
	

Commodity Base Year Current Year

dñVw Price Quantity Price Quantity

A 8 50 12 40
B 4 30 08 20
C 10 25 12 40
D 5 50 04 100

	

9)	 What is a 'Time Series'? Explain its components.

	 H$mb loUr ³¶m h¡? BgHo$ g§KQ>H$m| H$mo g‘PmB¶o&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 What is 'Research'. Describe its nature, objects and limitations.

	 emoY ³¶m h¡? emoY H$s àH¥${V, CÔoí¶m| VWm gr‘mAm| H$m dU©Z H$s{O¶o&

11)	 What do you mean by 'Diagrammatic representation of figures? 

Explain the various rules of drawing a diagram.

	 g‘§H$m| Ho$ {MÌ‘¶ àXe©Z go Amn ³¶m g‘PVo h¢? EH$ {MÌ H$s aMZm 
H$aVo g‘¶ {H$Z-{H$Z {Z¶‘m| H$m Ü¶mZ aIZm Mm{h¶o&

12)	 Calculate Karl Pearson's coefficient of correlation from the 

following data:-

	 {ZåZ g‘§H$mo§ Ûmam H$mb© {n¶g©Z Ho$ ghg§~§Y JwUm§H$ H$s JUZm 
H$s{O¶o…-	

X Y
200 60
400 100
600 120
800 160
1000 200
1200 220
1400 260



131

MCOM-05 / 600 / 6 	 (6)	

13)	 Write short notes on following :-

	 (a)	 Addition Theorem of Probability.

	 (b)	 Multiplication Theorem of Probability

	 {ZåZ{b{IV na g§{já {Q>ßn{U¶m§ {b{I¶o&
	 (a)	 àm{¶H$Vm H$m ¶moJmË‘H$ {gÕmÝV
	 (b)	 àm{¶H$Vm H$m JwUmË‘H$ {gÛmÝV


